Tutorial 
Zombo manufactures 3 designs for the garden sheds, basic, standard and luxury For the production of these 3  play houses the following information below is provided:

	 
	Basic
	Standard 
	Luxury
	Total

	Material cost per unit
	£190
	£240
	£350
	

	Direct labor hours per unit:

Assembly Hours 

Machining Hours


	1hr 

1.5 hrs
	2hrs

1 hr
	1.5 hrs 

2.5 hrs
	

	Budgeted units
	250, 000
	150,000
	200,000
	

	 Direct Labor hours
	625,000
	450,000
	800,000
	1,875,000

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	Labor cost per hour
	£7
	

	
	
	

	
	
	

	Overhead costs  for 12 months
	

	Electricity and Lightning
	£150,000
	

	Rent and Rates
	£880,000
	

	Machinery Insurance 
	£700,000
	

	Administration  staff
	£450,000
	

	Canteen
	£200,000
	

	Maintenance 
	£150,000
	

	
	
	

	Total
	2, 530, 000
	

	
	
	


The overhead absorption rate is: 
	Overheads/hours 

£2,530,00 / £1,875,000

=£1,35 ( Blanket OAR)

	


	Department 
	Machine  Value
	Machinery (KwH)
	Floor Space


	Number of employees

	Machining
	100,000
	2300
	900
	20

	Assembly 
	8,000
	1100
	700
	8

	Finishing
	15,000
	1300
	500
	5

	Administration
	
	
	400
	2

	Canteen
	
	
	300
	

	Maintenance
	
	
	600
	

	Total
	123,000
	4700
	3400
	35


Apportioning & re-apportioning
	Machining
	Basis
	Assembly
	Finishing
	Administration 
	Canteen
	Maintenance
	Totals

	Electricity and Lightning
	Floor space
	
	
	
	
	
	150000

	Rent and Rates
	Floor space
	
	
	
	
	
	£880,000

	Machinery Insurance
	Machine vale
	
	
	
	
	
	£700,000

	Administration Staff
	Number of employee
	
	
	
	
	
	£450,000

	Canteen 
	Number of employee
	
	
	
	
	
	£200,000

	Maintenance
	Machine Value
	
	
	
	
	
	£150,000

	Total
	
	
	
	
	
	
	2, 530, 000

	
	
	
	
	
	
	
	

	Maintenance
	
	
	
	
	
	
	

	Canteen 
	
	
	
	
	
	
	

	Administration
	
	
	
	
	
	
	

	Totals
	
	x
	x
	
	
	
	

	
	
	
	
	
	
	
	


(OAR)
A)  Calculate how the total costs of the garden sheds manufactured by Zombo LTD are arrived at.
B) Illustrate how the company apportions costs to service and production departments and then reapportions service department costs to production departments. You should continue by then calculating an overhead absorption rate based on direct labour hours in each production department. Your example should include an illustration of how over and under absorption adjustments are made.

